Section 13.5 Translations and Stretches of Trigonometric Functions

General Equations and Transformation of Sine, Cosine, Tangent Graphs

y=Asin(B(xxC))+D y=Acos(B(xxC))+D y=tan(B(x+C))+D
Where:
Amplitude = A Horizontal Translation (Phase Shift) = C

Frequency = B
Vertical Translation =D
Period =2n/B or =n/B

***Don’t forget, this works the same way as other functions before with horizontal translations.

So + C moves you left and — C moves you right. Also in this case a horizontal stretch or compress
changes the period. If you stretch the function, the period gets larger and if you compress it the
period gets smaller. If your |B| value is greater than one it will compress and if it is less than one it
will stretch. A vertical stretch or compress will change the amplitude from 1 to |A|.

In this section you should do all graphing by hand. Also, all homework problems are in radians.

Example: Graph the following for -2xr <x<2=n
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5. y=3sin(2x)
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6. y=tan2x
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When writing an equation for a given graph, keep in mind what the parent function looks like

Example: Write an equation for the functions below.

\Ooks like cosme

Dut- rroveot wp 2
Qrplihcle = |
Perod = 2xr

BTy

S

b.

¥'!

]\[/,\ , //\ _
A3 F 4
i \\//! \\\/

3{
looks hice sive
DU Gnplrtuete =3

ik—es iIn [O/?Tr])

HOMEWORKI & J



